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Let go of discussing testimony of the — Xnv=IRT WA NITYY 737
new moon, for that is a Nn399INT

OVERVIEW

The X131 asked how we can say that 17 7wyl 7v by m17vww a1°p, when by w17p
v nn the rule is that 17 wyl 7v PR, The X3 answered that w7nm wTp
should be dropped from this discussion since W77 WITR is XNIIRT and 2P
MV is 131277. Our Mo will explain why (XN°7IX72) 1°°7 AWY1 7Y PR, and to
what extent do we say that 17 w1 79 PX.

mooIn explains the crux of the s'&713 answer:
— 17 YUY 7Y PN RNMIINTI)

And in matters that are 790 laws, an 7¥ cannot become a 3°97; therefore by
WTINT WITP we say that P07 7wl TV PR,

Moo explains why 1°7 AW 7Y PR (RNIRT):
— 1939911 239D YIYIV 13927 DIVN 1227 NYYI 1Y PRT NNYV)

And the reason why an 7Y cannot become a 37 in XN»7X7 matters is
because there is a requirement that the 0°7v testify before the 25197 -
- o9 9292 DINDY 199349 WINY M
As the 2'"'2w" explains -
— 199577 19X 71 2395 B1¥0 1IN DIWIND 2IY Y1 *25n94
That it is written in the 790 ‘and the two men shall stand’; this refers to
the witnesses. The 05 continues ‘before '7’; this refers to the 2%1937. The
inference of this 109 is that the 7v should testify before the 77 (not that the 7v should be

the judge’). If the 7v would become a 17, he would not be able to testify in front of
himself.

mooin offers a different explanation why 1°°7 w1 7¥ R (RNIRTN):
— "m0t 9195 NAARY MY 4195927 DIUN PYUIDN Y

Ppxy a7 x,7p A7 2",

21 v (0°woWw) ©137. The 100 reads: 131 7 °19% 27 0% WK DOWINT 21w 1T,

3 This is based on the X3 in X,? Nwaw.

* This seems to be obvious.

3 See "X M2OIN.

® See x,x» 117710, 2" there 1R 71"7 explains that otherwise we could not fulfill the requirement of the 109
(m v [owow] 0*127) which states 2137 w9 W WA (it concludes with the %7 of 7217).

7 anr refer to the type of refutation when new o7y come and testify that the original 07y were with these
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And others explain that 17 7wyl 7V X is because there is a requirement

that the testimony be such, that it can be refuted -
- 18y HY AITN AP RYY NN N12TNY D199 NN PRY MTY 123997 W) ©X1¥N ON)

And if the 2°7vy will become the 2°17 it will be an 12> AR PRY M7y

maore, for the 117 will not accept any 717217 on themselves. The o7 will
not allow anyone who attempts to be 0°1% them, to testify in their 7"2.

mooIn has a difficulty with this o*waon w:
= 19379 D)9 ©¥T¥N ON NT OYL 9D 1)

However, it would turn out according to this reasoning of the o°wnsn v,

that in any case where the 27y are relatives to the 2197 -
- DYYY NNTN VAP NYT TYNY D91 DPN

They would not be capable of testifying, since the 0°17 will not accept

717 on their relatives; it would be an 72°T7% 212> 70X “Xw m7v. This obviously is not

the case. Relatives of the 0°17 are able to testify -
= 192 XIIP NNNNT D120 NNNY NTY INN 17 $1°22 11139 NN 2327 )1 NON

for we rather maintain that since these 2°7v are vulnerable to 737 in
another 7''2 (where the 0°17 there are not their relatives), therefore we

consider them as 77279 912° INRY MTY (even when they testify in the 7"2 of
their relatives). The 1» 0 07V can go to another 7"2 and be o’ the 27y who are

relatives of the original 0°1°7 -
= 7Y YY) TN DYDY 933 XON

Here too, the 17 can become an 7¥; and it is considered an m°177%2 212> AnRW M7y,
since in a different 7"°2 these 0°1>7 (who are 2°7v here) are 7777 °32.

mooIn goes on to a different topic:
= Y0 2N IMYUT T DYV TY 1ORT 1IN TPYND Tya RPN

And only by an 7¥ who is actually testifying do we say that wyi v PR

197, for the aforementioned reasons are applicable -
= 119950 DYINN YWIY 1N PYNY 7998 1NV 1Y YaN

However an 7¥ who is not required to testify, for instance where there

are others who can testify. Many people observed the incident and others are
testifying -

new 07V in a different place, at the very same time that the original o7y claim they saw the incident (in a
different place). In this instance the latter 0>7v are believed and the former testimony is discarded, etc. See
‘Thinking it over’ # 1.
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=17 YUY Sn”mn ADYTY NPINY RN ROT TIPNY TH98 1IRY D3 ININIY 1) IN
Or for instance in a case of wTn w172 where the 7"°2 saw the moon by
day; in which case, the 2°17 who saw the moon are not required to testify,
in order to be wpn the w7In. The 0°1»7 who saw the moon can be w7pn the
wTIn without M7y n%2p, since in this case we can apply the logic that
hearing cannot be greater than seeing; Therefore in these aforementioned

and similar types of cases, an 7v can become a 3°7. There is no problem of 17
D°WIRT W, and there is no problem of 72°11% 912° INRW M7V, etc., because this 17 is not
testifying.

= 1957 AW PN PPN 798 PRY 1Y IPPANR MHIVO) 23572 JAN MMM 373 RPN
And this ruling that an 7°v7% 7°7% PXW 7V can become a 17 is exclusively by
monetary cases. However in capital cases even an 7°¥7% T3 PRR 7V
cannot become a 397 in the case which he witnessed. This restriction by mws1 °7 is

(only) -
- £ 1992 NN 17 1PN (ovr 1 41 N NIVNA VINT XIPPY 229Y

According to ¥''v who maintains in M>» noo» that even if there were a

hundred witnesses, they are all considered 2°7¥; including that (in order for
matn to take effect all the o7y have to be o and) if one of the hundred was a 2179 or a

2100 the entire group of the hundred 2>7¥ become disqualified to testify.
- 7197 19581 729057 DIV (ovr 92 91 17 179 12 YN P92 Y9 NIYY)

And the reason why the 7v who saw the incident cannot be a ™7 is
explained in 7''2 YMR9 pap, for it is written in the 79w\ ‘and the

congregation shall judge, etc. and the congregation shall save, etc.’
- NIAT Y 3TN XY I YOPT NNT 1D 190

And these 0°17 since they saw that the alleged murderer killed, they will

no longer find any merit on behalf of the murderer, and they will vote to condemn
him to death."’

¥ See previous »"w1 7"7 MDOMN.

% 13 (19),7% (°von) 127m. The (2°)p108 read: 31 X DR 7797 12780 (131 T3 9RI™ P 79097 193 7795 W00W).

' The X9»3 in 7" uses this reason to explain why ¥"1 maintains that the 2°X117 2°7v cannot be 2°3°7 by 17
mwnal. It seems unclear however why N201n mentions M>nT ¥"7; it seemingly has no relevance to the
discussion here. See 12w MRk 2"n. [It seems from NM>dOIN that if not for MdnT ¥"7 who deems the 2°X17 7Y
as 07y, the P1oo of 77v77 2°¥m would not be sufficient to prevent the 0>X1771 27y from being 2°1>7. The X713
in "9 states that ¥"7 who maintains that 0>7y 0713, therefore 1°7 7wv1 7v 1PX (even by 2°X117 2°7v) by 17
mws1 since there is a requirement of 77v77 Y2°%m. (Perhaps if the X177 79 would not be considered an 79, but
rather an uninvolved bystander, then we would not be concerned that Xm31 7°7 i 82. However since ¥"1
monT teaches us (according to >0 ') that even the 0°X1771 2°7Y are van the entire M7y if they are 0°217p, this
indicates that an ;381777 7V is involved in this incident and therefore there is the 17701 of 12°xm. 3"'v¥1)]
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mooIn offers the conclusion of the s'X7 13 answer:
$927 WYY TOYNN 1Y I1DAN 192973 AN RNPIIINTA RPN

And this is specifically limited to 8ns"mR7 cases; however by 3139 cases

even an 7Y who testifies can become a 1°37. Therefore by nmvw orp which is
71277 we say that 17 w1 V.

SUMMARY

We say 17 7wyl 7V X by XN™RT cases (either because of a1 171 or
because we require an 7n°112 912 INRW MTY). An aR17 7Y IS T WY1 by 017
m1nn but not by nmwoi °1>7 (according to ¥"), for we require 7797 12°%. By
1127 cases we rule that 17 7wyl 7¥ (even an Y7 7Y).

THINKING IT OVER

1. The n" explain that 1°7 w1 7v X because it is an 727179 912° R"KW my. !
How can this apply to muw o1p; what will the claim of an»7 111Y mean in
this case (similarly what ant 2wX> can there be by w7 )21t

2. Why does ¥"1 maintain that 17 7wyl 7¥ by m1mn °17? Why does not the
requirement of 717v77 12°¥ apply there as well?!

' See footnote # 7.
12 See »"1m.
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